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QUESTION 1

Which three statements are true about SQL plan directives? 

A. They are tied to a specific statement or SQL ID. 

B. They instruct the maintenance job to collect missing statistics or perform dynamic sampling to generate a more
optimal plan. 

C. They are used to gather only missing statistics. 

D. They are created for a query expression where statistics are missing or the cardinality estimates by the optimizer are
incorrect. 

E. They instruct the optimizer to create only column group statistics. 

F. Improve plan accuracy by persisting both compilation and execution statistics in the SYSAUX tablespace. 

Correct Answer: BDF 

 

QUESTION 2

Which statement is true concerning dropping a pluggable database (PDB)? 

A. The PDB must be open in read-only mode. 

B. The PDB must be in mount state. 

C. The PDB must be unplugged. 

D. The PDB data files are always removed from disk. 

E. A dropped PDB can never be plugged back into a multitenant container database (CDB). 

Correct Answer: B 

http://docs.oracle.com/database/121/ADMIN/cdb_plug.htm#ADMIN13658 

 

QUESTION 3

In which two scenarios is an RMAN recovery catalog automatically resynchronized? (Choose two.) 

A. when a registered database is opened with the RESETLOGS option 

B. when a redo log is archived 

C. when backup metadata records are aged out of the control file based on the
CONTROL_FILE_RECORD_KEEP_TIME parameter value 

D. when the backup retention policy configuration is changed for a registered database 
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E. when a manual redo log switch is performed 

Correct Answer: AC 

 

QUESTION 4

You are administering a database stored in Automatic Storage Management (ASM). You use RMAN to back up the
database and the MD_BACKUP command to back up the ASM metadata regularly. You lost an ASM disk group DG1
due to hardware failure. 

In which three ways can you re-create the lost disk group and restore the data? (Choose three.) 

A. Use the MD_RESTORE command to restore metadata for an existing disk group by passing the existing disk group
name as input parameter and use RMAN to restore the data. 

B. Use the MKDG command to restore the disk group with the same configuration as the backed-up disk group and data
on the disk group. 

C. Use the MD_RESTORE command to restore the disk group with the changed disk group specification, failure group
specification, name, and other attributes and use RMAN to restore the data. 

D. Use the MD_RESTORE command to restore both the metadata and data for the failed disk group. 

E. Use the MKDG command to add a new disk group DG1 with the same or different specifications for failure group and
other attributes and use RMAN to restore the data. 

Correct Answer: BCE 

 

QUESTION 5

Which two statements are true concerning Information Lifecycle Management (ILM) policies? 

A. Multiple ILM policies may exist for the same segment and any compression levels may be specified for any policy. 

B. Segment-level policies override row-level policies. 

C. Multiple ILM policies may exist for the same table, if the action is compression and the scope is at the 

row level. 

D. Multiple ILM policies may exist for the same segment but greater compression levels must be specified at greater
elapsed times. 

E. ILM policy functions return a Boolean value. 

Correct Answer: CE 
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